
Everyday Science Online Test

Sr Questions Answers Choice

1 How many pound in a clove?
A. 8
B. 5
C. 6
D. 7

2 1 hairsbreadth is equal to
A. 1/5 of an inch <br>
B. 1/10 of an inch <br>
C. 1/20 of&nbsp; inch <br>
D. 1/8 of an inch <br>

3 How many quires in a ream?
A. 10<br>
B. 20
C. 25
D. 50

4 At what temperature of the Celsius and Fahrenheit scale match?
A. -18 degrees <br>
B. 106 degrees <br>
C. 60 degrees <br>
D. -40 degrees <br>

5 A road is the area of a rectangle with sides of 
A. There is not such unit <br>
B. 1 china by 1 rod <br>
C. 1 furlong by 1 rod <br>
D. 1 furlong by 1 chain <br>

6 1 nautical mile is equal to
A. 6080 feet <br>
B. 7180 feet <br>
C. 5280 feet <br>
D. <sub>4380 feet <br></sub>

7 Kilogram constitute 1 quintal?
A. 50
B. 100
C. 200
D. 250

8 _____ kilograms are there in one metric ton?
A. 100 kg <br>
B. 1000 kg<br>
C. 10 kg <br>
D. 1000 kg <br>

9 One square centimeter is equal to ____ square millimeter
A. 100 sq mm <br>
B. 1000 sq mm <br>
C. 10 sq mm <br>
D. 10000 sq mm <br>

10 What is the unit of electric charge:
A. Coulomb <br>
B. ampere
C. Hertz <br>
D. Kelvin <br>


